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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

A : TE YA ST (80) FHl w1 B S oA (03)
wuel %, @ 9 T H fawfya B ySe wve o
feu T fomga feen & AR & U9 hl ' B
2

SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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de ;. wWis ‘w H AR (04) < ST o9 v f@ T
2, T® U & fou =19 (19) o fuif@ ?
el @l 399 @ Fod & YT ® SHW A B

1. Define Public Finance Economics and discuss its scope and
nature.

GeiSer AR 1 YRS SfST qen sHe &9 3R
Yhfd 1 = HifSUl

2. “Both direct and Indirect taxes are needed to evolve an
equitable and adequate tax system”. Discuss it.

“uh R O W w el % fAu yes eiR
AYEF AT YHR B F KT STETIERAl ¢l A

i

3. Describe the classification of Public Debt. Elucidate the
general characteristics of Public debt and the distribution of
its burden.

TSR BT R IR TI HIfSW| AR SR %
MM O FAET Ul BUMR & faae @ TR Siftau)

4. Attempt an appraisal of the measures of Tax reforms adopted
in India in recent years.

g ¥ T@ & a0 H H-gUR & fm A B/E W
heHl 1 Hodishd hifST|
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SECTION-B/( @UeS-9 )

(Short Answer Type Questions)/( TTE I A1 W)

Note : Section 'B' contains eight (08) short answer type

e

questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4x8=32)

s ‘@' H A8 (08) oY S ol WA f&@
™ €, % T % fau eme (08) % fAuifa
g1 foenfefal =l =9 ¥ wow =R (04) YA &
SW [ E

Explain the different bases of classification of Public
Expenditure.

TESE =9 & IR & fafy= SNHm s wHEmEu

Distinguish between Private goods and Public goods.

ot agenl oiR Tmfeer a&gell o SR =aEUl

Discuss the various principles of taxation.

FTROer & fafa= fagral =1 smen wifsu)

What are the effects of taxation on Distribution ?

FAUE & famo W #1999 8 B

What should be the price policy of Public Enterprises ?
qrdsieh 3UHH HI Hod Aifd F g =feu?
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6.

What do you mean by Zero Based Budget ?
A Rd See ¥ oY FN FHe 7

Discuss the various aspects of the growth of central
Government Income.

A WER & A gfg & faft= wegst #t fag=m
HIfSTl

Write a short note on federal finance in India.

qdE g foq sSgaee | s wigw feuen fafen)

SECTION-C/( @Us-TT)
(Objective Type Questions)/( &S TIT)

Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

e ‘M H T (10) qArTS T A WO,
g% Y9 @ o Th (01) i fuifa @1 =9
wue & gt e st )

Choose the correct answer :

TE ST H T HIfAC ¢

1.

Of the following, which deficits is most significant for the
Indian economy ?

(a) Fiscal deficit (b) Revenue deficit

(c) Budget deficit (d) Primary deficit.
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freiford § 9 &9 W "RT 9RAE seferaeen & fau
Taiferd TEeol ©?

(37) TSR =T (F) TSg H=T

(9) 9 =T (%) wufHs =l

2. The most important characteristic of a federation is :

(a) Perfect match between the functions and resources of
the central and state Govt.

(b) Non-correspondence between the functions and
resources of the central and state Govt.

(c) Centre's supremacy over the states.

(d) None of the above.

et uftgs #1 waifus el favma €

() ®5 TA T WHN & FEA a0 GO & o
goi e

(F) ®5 TA TF WHN & FE a1 GO & o=
qEI&Id &l B

(F) T W &g HI Gareadl|

(%) ST H *E
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3.

Fiscal consolidation at the centre can be achieved by :
(a) Rationalization of major subsidies alone
(b) Reducing the defence expenditure only

(c) Raising the tax - GDP ratio and rationalisation of
subsidies.

(d) Minimising the central assistance to the states.

#= § fadfg 99es fea <1 9a ©

(31) ®aa Y@ dfsafedt &1 Jfaa T T

() & = H FHAd H

(9) F-9ohdl =] SR A9 § Jhs HT o wiearear

F FfFaETd TR

(3) TA & FEE TEEA AAH FHh|

If with the increase in Income, the percentage of income
collected as tax remains constant, tax will be colled

(a) Regressive (b) Progressive
(c) Proportional (d) Neutral.

I o/ ° g & W W F I U WOEH T A
yfgerd fer wa ® @ T T FEaTm?

(1) gl (9)
(9) AR (Z) de= |
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S.

Who among the following has developed the concept of
‘Effective incidence’ of a tax ?

(a) Ursula K. Hicks
(b) J.R. Hicks (c) H. Dalton
(d) A.C. Pigou.

frafafeg 5 @ f&mm = & 99ael wuue g &
farfaa foman?

(37) SHe &, feag (9) S.em feem

() T ST (%) THLH

Write True/False against the following :

ffafed & 91 T/esEE fafau:

6.

The Benefit theory of allocation of tax burden was given

by Pigou. (True/False)
T B W R ® e w1 o9 fage & T e
(F3/3199)

Principle of maximum social advantage is concerned with

only public debt. (True/False)
Afrmay gt o1y 1 fagia sad gesEe B0 9
Hafd 2 (/375 )
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10.

Exclusion principle does not apply to Public Goods.
(True/False)

ISR aegell W easH w1 fagra @r T8 gl
(F3/3199)

Tax incidence refers to the person or group who end up
paying a Tax. (True/False)
HA AR A GHE S Aqd: H H A B €, HI
AR Ghd FT T (H/3TEA)

Custom duty Tax is imposed solely by the Government of
India. (True/False)

W Yk H Had UNG TR ER Rl Sl 2
(H/ 39
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